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BA PSYCHOLOGY
SECOND SEMESTER
DEVELOPMENTAL PSYCHOLOGY

BPY —204 [REPEAT]
( Use Separate Answer Scripts for Objective & Descriptive )

Duration : 3 hrs. Full Marks : 70
( PART-A: Objective )
Time : 20 min. Marks : 20
Choose the correct answer from the following: 1X20=20

1. Which one of the following is the effect of puberty changes?
a. Boredome b. Social antagonism
c. Excessive modesty d. All the above

2. Pubescent loss self confidence, due to partly lowered physical resistance and partly
the constant criticism of adults and peers.
a. Self identity b. Self confidence
c. Self esteem d. Self coolness

3. Gonadotropic hormone produces by :
a. Pituitary gland b. Thyroid gland
¢. Adrenal gland d. Apocrine glands

4. Blocking of the sebaceous glands can cause:

a. Perspiration b. Acne

¢. Scanty hair d. Facial hair growth
5. The: sEan stops growing at an average of eighteen.

a. Skeleton b. Bone tissue

¢. Muscle tissues d. Sex glands

6. Inadolescence they formed a groups of close friends is called:

a. Gangs b. Close friends
c¢. Cliques d. Crowds
7. Adolescents express their anger by:
a. Temper tantrum b. Sulking
c. Soft speaking d. Explode
8. The term adolescence has a broader meaning. It includes:
a. Mental and physical maturity b. Mental and emotional maturity
¢. Emotional and social maturity d. All the above
Ch  civmccoron Period is called the reproductive age of human life.
a. Adolescent b. Early adulthood
c. puberty d. Middle age
10. Puberty is divided into ........ stages.
a. two b. four
c. three d. Non of the above
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The term adult comes from Latin word adultus, which means:

a. To go to maturity b. Grown to full strength
c. Grown to full size d. Grown to full size & strength
“Adolescence is a period of change” - universal change can be seen as:
a. Heightened emotionality b. Sexual maturity
c. Behaviour pattern d. All the above
Early adulthood isthe .................... age .
a. Growing up age b. Dangerous age
c. Settling down age d. Awkward age

.............. is intensified by competitive spirit to rise on the vocational ladder during
early adulthood.

a. Anxiety b. Isolation

c¢. Emptynest d. All above

Elongated family means................

a. Different size family b. Young parent family
c. Nuclear family plus relatives d. Foster parent family

Some old people have desire for rejuvenation and taking sex hormone drug, which is
calledf-teciecc

a. Evergreen drug b. Youth drug
¢. Rejuvenate drug d. Age miracle drug
The common sign of aging in middle age :
a. Skin changes b. Changes in teeth
c. Muscle changes d. All the above
Decline in Feminine Appearance is the ........ symptom of middle age
a. Menopausal symptom b. Empty-nest symptom
c. Homesickness symptom d. Virility crises
In old age there is a tendency for........... to accumulate in the corners of the eyes.
a. Mucous b. Watery particle
c. Black moles d. Fate muscles
Anxiety about virility is experienced during .................
a. Early adulthood b. Middle age
c. Adolescent d. Old age
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Time : 2 hrs. 40 min.
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[PART-B : Descrigtive]

Marks : 50

[ Answer question no.1 & any four (4) from the rest |

Define Adolescence. ‘There are some common social interest s of
Adolescents”- write in details about the interests.

How you define puberty? Discuss about primary and secondary
sex characteristics of puberty.

Write short notes on: ( any two)
a. Psychological hazards in Adolescence
b. Middle age is a time of empty nest.
c. Common changes in sensory functioning in old age

Define Adulthood. Mention the characteristics of early adult hood
and Explain about the three characteristics of early adulthood .

There are some conditions that contributing to marital mal
adjustment.- discuss the conditions.

What are the signs of aging in middle age? Explain about the
adjustment to psychological changes in middle age.

Define old age. Discuss about the internal and external physical
changes occur in old age.

What do you mean by hazards? Discuss about the psychological
hazards of old age.

3+7=10

2+4-+4

=10

5x2=10

2+2+6

=10

10

4+6=10

2+4+4

2+8=10
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